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Resources and guidance for using ICT effectively in mathematics lessons
Using the fractions ITP to divide fractions

Using the fractions ITP to divide fractions – using common denominators.
When dividing fractions, the temptation is to ‘teach’ the routine of changing any mixed numbers to improper fractions, turn the second fraction upside down then multiply. By using the ITP and common denominators, a method based on understanding is available.
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	The task is to carry out the calculation of 2/3 ÷ ¼.

Use the ITP to show these fractions. Doing this makes it clear that it is not obvious what the answer is.

The image does make it clear that ¼ goes into 2/3 ‘Two and a bit times’.


Now, use the ITP to display the calculation with the fractions written with a common denominator.
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	The calculation now becomes 8/12 ÷ 3/12.
It is clear from this image that the ¼ fraction goes into the 2/3 fraction twice with 2 parts of the 3 that are needed to make another whole i.e. 2/3 left over.
Hence the answer is 2 2/3.
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	From the image it is also possible to see that once the fractions have a common denominator, the fact that they are twelfths is irrelevant. 

At this point it is probably useful to turn off the displayed fractions.
We just need to calculate 8÷3 which is 8/3 = 2 2/3. 




The method can eventually be moved on to the following mathematical presentation:
2/3 ÷ ¼ 

= 8/12 ÷ 3/12
= 8 ÷ 3  
The ITP supports the move from the previous line, although there is also the possibility for discussion around the effect of multiplying both fractions by the same number.
= 2 2/3
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